RIl#K2-6(2019.9.214 XL H)

R R ~ =S AN R

BEF[2019.10.1281E )

REF B R = BECRESE
XA |_4.200 - Bt || Sody || Shd REE
- S ' 1,600 15,200 [ B ER X4 : -
TARER i R 12,100 ] 3,800 7 EE | #E | @ | B =
BS ?E 3,360 6:720 KA 3,500 6,300 12 7 | SR
BEIXA] 2100 =ENARE—S , NE : 600_[ 3,150 _| 2,800
2 Sy 1750 __| 3,150
B EhhE] 1050 +LRBS 22800 | 5,600 1,580 ] 1400
N *I)E\ 4500 | 8100 | 16.200 BEIRA| 1750 '
RERER — | 2250 | 4,050 BEI/ME[ 880
fi 3,600 3500 XA 3,750 6,800 | 13,600
E2A K] 2,250 =B NRA—IFIL MR [ 1880|3400 ’ 33803000
EENE] 1130 FAETBS 4 3,000 6,000 1,690 1,500
N j(é 4.950 8.900 17.800 E’%“j(A 1,880 ,
RARER =#7BS A 2,480 4.450 SE|/NR] 940
2 e =ty AA__|._4200 [ 7600 | 15200
BEIK L] 2,480 ZEARE—IFI _ MR | 2000 | 73800 | 1801 3.960
SEI/NR| 1,240 =#BS 4 3,360 6'720 = 1,680
R AA [ 6700 T 12100 | 24200 SEIRA| 2100 '
TRERER = AT M ] 3350 | 6050 BENE[ 1,050
| 75360 110720 AA__|_5650_ | 10200 | 20400
FEIAAN] 3350 ZEBENRI—ZFIL RN NG 5830 | 5,100 ! 5,090 4,520
S 2/ E] 1,680 ‘A2 —mBT B | 2520 | 9.040 S L B
- FYE IS PN e | e ] BEALI 283071
SRR BER 22 BT T BEINE| 1420
= Al ) 5440 | 108 P
BRI K] 3400 == =EARE—IFIL YR IR 2,828 150’240000 20800 .1..2.180. . 4,600
Ef%xllll\'ﬁl 1,700 RAIER T 4,600 9.200 2:2%0 24
- ~_|_6,950 HAL 2, '
- =R = : 12,600 | 25,200 ) 2,880
SR maEm=Te | 1R B BENE| 1440
. ¥ 5560 | 11,1 = _ AA 58
S R YO ZEARE—ZFL BAVRH = T B PR g R S
SE/NE] 1,740 f’iﬂj{?jbu k| 4680 | 9360 S L il
) \ > —_ prdy . 2
. AA | 7350 | 13300 | 26600 PAVZTRBRIAAL 2950
ERER = = b AN | 8680 | 6,650 SE/NE] 1,470
jr’-ij'c 5.880__| 11,760 AA 6,100 | 11,100 [ 22200
BEAA] 3,680 =E/NRA—3 . NE : : 5,490 | 4,880
£ , L e L 3.050 5,550
E=)/NE| 1,840 = il = Al A 4.880 9760 2.150 2,440
N KA1 8050 [ 14600 [ 20200 SEIRA| 3050 '
RERER FISER ’Jr“:% 4,030 7,300 SEI/ME] 1,530
R °F 6440 | 12.880 A 6,500
BEIAA] 4030 =ZENRE—IFIL y AP 3,250 151 580000 CHRD L neat L BT
Ef%k'lll\'ﬁb 2,020 RIRER | 5.200 | 10,400 .
K IRERURE BT IJ\I)E\ 3000 | 7.000 | 14000 | 3510 | 3.120 SEIRA[ 3250
BRI/NRE—3FIL 1T HBS s ;?20 3,500 1,760 | 1560 Efi“'i\l’% 1.030
£ 120 6,240 ’ ’ 5,350
BRI% ] 950 EEET e Rh{-2300. 9200 19400 | 4820, 1 4280
Erilll\'ﬁd 980 RAA 5 —mBT 2772280 | 8,560 i B A
.. A ] ' ’
KIRERIRERBT iy 4,200 | _7.600 | 15200 | 3780 | 3,360 E{z]ié 2680
BEINRE—3F)L ETBS Er 2,100__| 3,800 1,890 168 SE|/NRE| 1,340
5173360 | 6,120 | 080 Y= AA_1 5450 [ 9900 [ 19
SEIXA] 2,100 BEET DE O R T2730 | 4950 800129101 4,360
%i“/J\L% 1,050 = AER 274360 | 8,720 ¢400. 2180
ARERIREEBT /J\Ié a0 8,400 | 16,800_| 4,190 3,720 Efﬁuxk i
HET\RA—SF =1Bs M| 2.330_ 1 4,200 5100 | 18 HEUNE] 1370
S | 73720 177,440 ’ i = BT = XA | 5550 | 10,100 | 20
HEIA K] 2,330 g S AEET=T B N 200 | 5000 | 4440
Erilll\'}% 1170 L'f’f)u f%,;": H 5| 74440 | 8,880 U e
> A—[ £ : :
K IRERJRE BT AL [ 6200 [ 71200 1 22400 ] 5580 1. 4960 BEIRAL 2780
ZBINRE—SF I EHA 2 —mEBT oy 2;28 5,600 2790 | 2480 Ef;gljjcl’a“ 1.399
£ , 9,920 ' : 5,750
HEA K] 3100 EBEET e R 772,880 T e 1]
E‘il]l]\lﬁl‘ 1’550 SRS 54 [ 4600|9200 2590 1 2.300
KIRERIRE EBT [FYEOHE AN [ a008 | ATAO 228000 - S0 504D SRR 2880
EZBI/NRE—IF I EEFSILN eyl 21(1)50 5,700 2840 | 2,520 Efi“'i\"% 1340
' = 040 | 10,080 ' : 8,150
EIE'UQA 3,150 BRET . MR 3,080 151 %,15000 22200 19,540 4,920
Efﬁgd)k\lﬁ 1,580 RIBER 274920 | 9,840 RO 2
= = — 6 Z| ’
RIRERIREEBT SAEAT=T B AN 3,?50 11,500 | 23,000 | 5,720 5080 gid/jslt L
EET/ARZ—SF )L EAAEALO N T 2.860__|..2540 L 1540
Loqrs—0  [BEXLA] S 160 '
: 3,180
%ill\'ﬁd 1,590
- A_|_6600 | 1
:QWEBJRE”_EBT = e b INR 3,300 62600000 24000 =0 2,280
BRI/NRE—3FIL = =S SE | 5,280 | 10,560 2,970 | 2,640
BEAA 3300 |
Erild\'ﬁd 1,650
- A 7.0
:Qu?}f 5§JR%’_$BT - y; 3:528 1622180000 SR L
BHT/NRE—3F)L R ER %ﬁé_i._ 5,640 | 11.280 3,180 [ 2820
2XA] 3,530 '
HE/NE] 1,770




